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Note: (i) Figures to the right indicate maximum marks of the question.

(ii) Total Marks- 100

What is economic model? Discuss the income determination model of Keynes with the 12
concepts of its elements.

Narrate the steps of the graphical method to solve the linear programming problem and solve 13
the following problem using this method.
Maximize; m = 100X + 150Y
Constraints; 5X + 2Y < 180
3IX + 3¥ %135
2X - Y20
Non-negative conditions; X > 0 and Y > 0
OR
Narrate the importance and characteristics of idol diagram. Discuss the various types of 12
diagram.

Narrate the steps to find out an inverse of a matrix and using the following matrix prove that 09
AA'=L

23
A=[2 4 5

3.5 &
Give the meaning of the function and equation. Distinguish between them. 04
Give the meaning of matrix and discuss its types with appropriate example. 10

For the two commodities ‘X’ and ‘Y’, the technical coefficient matrix of a firm is 08

géz gg]and the matrix for the final demand is [‘;’:] then find out the total production of

‘X’ and ‘'Y’.

What is meant by variable? Explain its types with appropriate example. 07
OR

Write a detailed note on Input- Output analysis. 13

With the help of differentiation prove that when AC = MC and the slope of MC line is C12

positive then average cost would be minimum.

With the help of differentiation discuss the relationship between AR , MR and Eg. 05
Define the probability. Discuss in detail various events of probability. 07

If the demand function for a commodity is X = 25 - 3 P and total cost function of a 13

monopolistic firm is C = 50 + 20X. If (i) tax per unit ¥8 is levied, (ii) value based tax at the
rate of 25% is imposed, then compares the impact of both taxes on equilibrium.
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Discuss the absolute and relative measures of dispersion with illustration. 12
“There are 7 males and few female in a group. The probability to select 2 females from this 07
group is -11—5 Then Find out the total numbers of females in the group.
Discuss the usage of the measures of central tendency in economic analysis. 06
Give the meaning of correlation. Explain the types of correlation and interpretation of 09
coefficient of correlation. '
What is association of attributes? Discuss the various methods to take decision about the 09
association between given attributes.
The marks obtained in internal exam (X) and in university exam (Y) by nine students are as 07
follow. Using this data find out Karl Pearson’s Coefficient of correlation, probable error and
interpret the results.
X 51 63 73 46 58 60 50 36 60
Y 4] 52 74 40 50 66 47 30 35
OR
Explain of the causes responsible for regression error. 06
Explain the concept and construction of Cost of Living Index. 07
Using following data, find out coefficients of regression and regression lines. Calculate value 12
of Y when X = 67.5 and value of X when Y= 65.
X 65 60 67 67 68 69 71 73
Y 67 68 64 68 72 70 69 70
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